Class - IX
el - IX
SCIENCE

fam=

Time : 3 to 3VY2 hours Maximum Marks : 80
T ;3 W 312 HE aAfersham 37 : 80

Total No. of Pages : 9
A J31 ! HE&AT : 9

General Instructions :
The question paper comprises of two sections, A and B. You are to attempt both the sections.
All questions are compulsory.

There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such question is to be attempted.

All questions of section A and all questions of section B are to be attempted separately.

Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.

Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.

Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

An additional 15 minutes time has been allotted to read this question paper only. During
this interval you are not to write any thing on the answer book.
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SECTION - A
State one use of ozone.
What is reverberation ?
State the role of symbiotic bacteria in nitrogen cycle in nature.

Give reason why, a block of plastic when released under water comes up to the
surface of water.

In the hierarchy of classification, which grouping will have the smallest number of
organisms with maximum characteristics in common and which will have the largest
number of organisms ?

(a) Define relative density.
(b) Relative density of silver in 10.8. The density of water is 103 kg m ~3. What is the
density of silver in SI unit ?

State two main postulates of Thomson’s model of an atom.

Characteristics of some organisms are given. Identify their group and give one example
of each.

(a) Single called, eukaryotic and photosynthetic

(b) The body is divided in to segments, may be unisexual orhermaphrodite.

A hospital uses an ultrasonic scanner to locate tumours in a tissue. What is the
wavelength of sound in a tissue in which the speed of sound is 1.7 km/s. The operating
frequency of the scanner is 4.2 MHz

(IMHz=10° Hz).

(a) Calculate the number of molecules in 8 g of O,.
(b) Calculate the number of moles is 52 gas of He (Helium)

At.mass: O = 16 u
He=4u

State any two harmful effects each of
(a) Air pollution and (b) Water pollution

(a) Define 1 watt.
(b) An electric bulb of 60 W (sixty watt) is used for 6 (six) hours per day. Calculate
the units of energy consumed in one day by the bulb.

(a) What is soil erosion ? State any one way by which it can be prevented.
(b)  What is humus ? What is the role of earth worms in increasing the quantity of
humus ?

(a) What are polyatomic ions ?
(b)  Write the formulae and names of the compounds formed by combination of

(i) Fe* and SO~ (i) NH,!'* and Cos2~
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Write any three differences between Amphibia and Mammalia belonging to kingdom
Animalia.

Define valency of an element. Find the valency of chlorine and Magnesium (At. No. Of
Chlorine = 17, Magnesium =12)

(a) Explain why antibiotics are more effective in curing bacterial diseases than viral
diseases.

(b) List two means of spreading of infectious diseases.
Explain how human ear works in the transmission of sound wave to the brain.

(a) Define potential energy. Write an expression for potential energy of an object of
mass m raised through a height h.

(b)  Find the energy possessed by an object of mass 10 kg when it is raised to a height

of six metre above the ground given g = 9.8 m s 2.

What is human immune system ? What is a vaccine ? How immunisation can be
achieved ?

Define frequency, amplitude and speed of a sound wave.

List any two differences between Infectious and Non - infectious diseases. Write any
one example of each disease.

(a) Draw well labelled diagram of Oxygen cycle in nature.

(b) Explain in how many ways O, is used up from the atmosphere and how it returns
back to atmosphere.

OR
(a)  With the help of well labelled diagram explain water cycle in nature.

(b) How is green house effect related to Global warming ? Explain.

(a) State the drawbacks of Rutherford’s model of the atom ? Explain the suggestions
put forward by Neils Bohr in his model of atom to overcome these drawbacks.

(b)  Define isotopes with one example. Write two applications of isotopes.
OR

(a) Write the name of the sub - atomic particle discovered by J. Chadwick. What
type of charge occurs on this particle ? In which part of atom this particle is
located ?

(b)  List three steps of experiment performed by Rutherford for his model of an
atom.

(c) Define isobars, write its one example.

(d)  Which scientist concluded that size of nucleus is very small as compared to size
of an atom ?
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State Law of conservation of energy. Explain it with one example.
Two girls each of weight 400 N (Four hundred N) climb up a rope through a
height of 8 metres (eight metres). Girl A takes 20 (Twenty) seconds while Girl B
takes Fifty seconds to accomplish this task. What is the power expended by each
girl ?
An electric heater is rated 1500 watt. How much energy does it uses in 10 hours
(ten hours) ?
OR

Define work done by a constant force on an object. Write an expression also for
the work done.
How much work will be done on an object by a force if the displacement of the
object is zero ?
What is the kinetic energy of an object ? Write an expression for the kinetic energy
of an object of mass m moving with a speed v.

SECTION - B

Which of the following in the fern is below the soil ?

(a)
(©)

()

Rhizome (b) Chloroplast
Pyrenoids (d) Stem
In the wave motion of a string, every particle :-
Rotates (b) Oscillates
is stationary (d) displaces from one end to another.

(©)

The Feeding habit of cockroach is :-

(a)
(©)

Herbivorous (b) Carnivorous
Omnivorous (d) None of these.

The wave produced in the interior of the earth is called :-

(a)
(©)

Longitudinal (b) Seismic wave
Sound wave (d) Transverse wave

We can sense a compression is a slinky if :-

(a)
(©)

Turns are close to each other (b)  Neither turns are close nor far away
Turns are far away (d) None of these.

The type of chloroplast present in spirogyra is :-

()
(©)

Triangular (b) Chloroplast absent
Spirally arranged and ribbon like (d) Square shaped.

The sound wave cannot propagate through

(a)

Vacuum (b) Iron (c) Water (d) Air

If d, and d,, are densities of the material of body and the liquid respectively, the body
can float only when

()

(a)
(©)

d, = d, (b) d,<d, (c) d,>dy, (d) d, = 2d,
The earthworm belongs to group -
Arthropoda (b) Echinodermata
Annelida (d) Platyhelminthes
4

https://www.evidyarthi.in/



35.

36.

37.

38.

39.

40.

41.

Birds respire with :- 1
(@) Lungs (b) gills (c) Skin (d) None of these

Upthrust depends upon :- 1
(a) volume (b)  density () ‘¢ (d) All of these

Needle like and green leaves are of :- 1
(a) Fern (b) Pinus (c) Algae (d) Funaria

When all ice floating in water melts the level of water in Containing :- 1
(a) Falls (b) Rises

(c) remains unchanged (d) None of these

A jet plane flies in air because :- 1
(a) Streamlined flow of air causing lift

(b) upward thrust of air balance its weight

() No gravity acts on plane

(d) None of these

Mass of an object in air is 40 kg. Mass of this object in water will be :- 1
(a) More than 40 kg (b) Less than 40 kg

(c) 40kg (d) Zero

Which of the following has the highest density ? 1

(a)
(©)

Alcohol
Water

(b)
(d)

-00o0-

Glycerine

Sea water
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Ifg Tk e & T2 I 9idl B BIel T dl 98 el i T I i 371 31 § 2 R
AR

IRTIeRHT FERTOT H (i) HIF 9 T | Tod o Sia el S8 Tad 3714 T8I0 Teh 99 8 |
(i) Fre w9 & wag sifye Sita B ?

(a) ATufereR B sl g fafE |

(b)  STeT T 3TAfeeR S 10.8 T1 UM %1 ¥ 10% kg m—3 €1 SI A § = 1 o
FIT ST ?

2TAET o AT Aied & &I AfWEa fafag |

FD Sl & A U M ¥ | TH-Th ST T Y ST W TR |
(a) e HITHA FohiiAch TN TehTel HICTH
(b) ¥R Gl | fawfsm, Twia a1 Iyt

T 3Tqae H 37 (TFR) &l Hask § fafed w1 & faw quges swadtee (Thi) Janm
fopen ST 1 AfE Sodes | &89 1 AT 1.7 km/s T &8 1 qTeed Uieher hifsy | shHeeres
(¥hR) & @ 4.2 MHz ©1 (1 MHz =100 Hz).

J

=

(a) 8 g Ao 19 # S7upei st W& qRehfard il
(b) 52 g Efcrad (He) H el shi H&a qfierfard Hifsre
(] YR O=16 u, He=4 u)

(a) 1 IHU qA (b) STA IHU % HiE I bRk G feafe

(a) T A Ul 1 wReE R

(b) 60 W 1 T faga aea Ufafed 6 He TN foha a1 €| ocd gN Ua fod o @9 &l T8
FSl sl I <l IReher i
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(a) HTI-3TIREH I §? TG ol Uch I hIg Teh alehl feafay |
(b) TIHE I E? Y H gAY H A S § hgeii w1 31 AMEH § 2

(a) TGRS 3TEA I Bd & ?
(b) TrAfafEa e & G 9 5 AifieRl @ AW e 9o fafan
(i) Fe3* qaso,2- (i) NH,™" q21 CO,2~

Tl TeT=R Sfall qem WAt Sital § o A forad gu fase wifsm

qcdl Bl FASIohdT 1 IR RifST | Fiie qen JT1EH ol GaISiehdl J1d hITIT |
(T §& Cl=17, Mg=12)

(a) ‘'OERE W BW ATl I T ST AR € B a1l WA o ITAR ok fAw Camifes
2Afereh guTaRel i B €277 T wifsu

(b) kT Tl % Thet o <1 WIEE SIS |
T & &M H eaft & afidsh qo oo S gishar fFd yer 2t 82 faa=m sifs)

(a) Teafas ot o6t aRure fafaw) afe fdt owg o1 299 m ® 91 38 h 96 T 33/
T < 3Tkt feafast St o fag e fafan |

(b) afg foret a%g 1 g=99H 10 kg € T 3 G2t § 6 m 1 E T I3 T ¥, o 3
T I o1l qRepfeld HISTL (g =9.8 ms—2)

o SfeRen o 1§ 2 Al Sieht 9 § 2 wfaRefieRto fRe YRR e foRar S Hehdn 2
ST, ST qUT & T i =Tel hl TR Hifag |

HIE 1 AT Td U HshTHeh T qT STHhTeR I | fa9es Hiferg | S AT o1 Teh-Teh ST
ot ST

(@) UHfd H ATISH-<sh 1 FHifohd forsl sHET
(b) AgHEA H RIS S STAN fohat Ufehanaii gRI Bl & qe i §f Ufeha gRT At
IHed § lredt €2
srerar
(a) Upfd H Sci-<sh k1 ATHIfohd o3 SFTRT IHehT ST il |
(b) T T3 gua Afvaes o1 ¥ fhg YR Heifea €7 =men s
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TS o TR HISA o YN o i =0 bt et ST |
Teh ST ¢ U AHYIRE TLATY] i aRumen fafa |
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¥ Safeh <TSsh! B, 50s o1 THA ol &1 Teh TIgeh! §RI o4 i T8 Vfekd o Uiehets

HIT |

T fogga-gie (Fw0e) @i afdd 1500 W &1 10 51 § a8 fohaet Se1 SUanT i ?
arerar

Ff foreft I TR THEHM sel TN ST A1 fohT 7 6 o6t aitwmn fafae) forg 7w v

% foru =ises faftaw |

Ffe fordlt a%g 1 faXmTe 31 € O @I T 5/ g1 feha1 e feran s ?

() Torslt g ot TIfos SeeTt kN Bt © 2

(i) oo | TTHNE m THAM &I foRdl a% T (s Hel o fo st fatan

QU - F
T B Sufterd e fod gu d @ ®F |1 e Siie 6 e feerd drar § 2 1
(a) Tehe (TESIH) (b) FARRE

(c) IS (d) @

fordlt S8 o 37 T TG § Yk T ¢ 1
() EONF FAE (b) T I T

() ferz (d) THHF H T HM o [TEATTT BT 8

i h! FUROT 3T © : 1
(a) ITRTERT (b) WERH () wdwed (d) T ¥ RE T
geaft o o H Icu T R Hed © 1
(a) o< T (b) FH T () AT wT (d) SrIwE
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7 Tt feciohl & Hiited ot Hoe X Tehd ¢ 97Q
(a) Tctent =i Feforai - & (b) Tectet #i Fefemi T Tm e T R &
(c) Tt ot Fefaal - & d) T H FE &

TR | 11 ST 9ol FARTRE fh JehR sl Bl ©
(@) farm (b) RIS & B
(c) T@m S qeon wffemeR =afterd (d)  afeR

el qi = o 9 forg H H=ror 76 T gehdl ?

(a) fraid (b) @& () ¥ (d) =g

Ife foret a%g 1 5@ d_ q9 9 1 I dy, B, @ 98 a%g 59 H T wehdt © Al

@@ d,=d, (b) d,<d, (c) d,>d, (d) d, = 2d,
et f= ¥ 9 forg ol § Wafim § 2

(a) sTgrdrer (b) THIEATESHE (c) THifereEn d) widRfereis
qferl o vaEq 3§

(a) WHs (b) FAH (c) o= (d) ITH 9 D &l
TRt o St aa R e ©

(a) o AT (b) T I A (© ‘¢ (d) TR U ge wa
geATehIe q &t ufaai fred i S €

(a) (b) T (c) o (d) werifEr

T o W R foRdt ue W R g8 9 9% faee St € @ 5 Ao

(a) HH B AT (b)  2fere & ST

(c) T8 SRl § d) T A FE &

T I IRAH g H 3Sd1 § Hifeh

(a) g HI YRRET Ifd 3H W I3 7|

(b)  dTg I W & AR T AT YUIE SHF IR hl Tferd il 2|
(c) TIAN R HE ToA o9 Tal Nl & |

(d) T 9 HE T

Toreht a%q 1 2o a1 | 40 kg B | I 9% I a1 H ZAHH B0
(a) 40kg 9§ 3ifek (b)) 40 kg ¥ HA (c) 40kg d) A

= o 9 forgem s 9o aifess g ?

(a) TUeHElA (b) TreedH (c) it @ 5 (d) ¥Hg S
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